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1a. Sara has 200 lollies that she wants to
share with 100 friends.

Sara says,

My friends will have 20

lollies each.

Is she correct? Explain your answer.

)¢

1b. Molly has 600 marbles that she wants
to share with 100 friends.

Molly says,

My friends will have é

marbles each.

Is she correct? Explain your answer.
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2a. Lavra is thinking of a 3-digit number.

O Oo

o)
=

| divide that number by 100.

The answer | get after dividing by 100 is
between 1 and 10 and is a multiple of 3.

What number did | start with?
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2b. Ross is thinking of a 3-digit number.
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| divide that number by 100.

The answer | get after dividing by 100 is
between 1 and 10 and is a multiple of 4.

What number did | start with?
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3a. A number divided by 100 equals this:
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Mutya thinks the calculation must be:
800+100=8

Is she correct? Prove it.
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3b. A number divided by 100 equals this:
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Sheila thinks the calculation must be:
500 = 100 = 50

Is she correct? Prove it.
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